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DERIVAREA Şi INTEGRAREA 
FUNCŢIILOR COMPUSE. 

FORMULE TRIGONOMETRIE 
 

1 ( ) 1n nu n u u−′ ′= ⋅ ⋅  

2 ( ) 1
n

n n

uu
n u −

′′ =  

3 ( )ln uu
u
′′ =  

4 ( )n ua a u′ ′= ⋅  

5 ( )s in c o su u u′ ′= ⋅  

6 ( )c o s s inu u u′ ′= − ⋅  

7 ( ) 2t a n
c o s

uu
u

′′ =  

8 ( ) 2c
s i n

ut g u
u

′′ = −  

9 ( )
2

a r c s in
1

uu
u

′′ =
−

 

10 ( )
2

a rc c o s
1

uu
u

′′ = −
−

 

11 ( ) 2a r c t a n
1

uu
u
′′ = −

+
 

12 ( )fg f g fg′ ′ ′= +  

13 
2

f f g f g
g g

′ ′ ′⎛ ⎞ ⋅ − ⋅
=⎜ ⎟

⎝ ⎠
 

14 ( )1
1

1f
f f

−
−

′ =
′ ⋅

 

15 ( )f fλ λ′ ′=  

16 ( )f g f g′ ′ ′± = ±  

17 
1( )( ) ( )

1

n
n u xu x u x dx

n

+

′ =
+∫  

18 
( )

( ) ( )
ln

u x
u x aa u x dx

a
′ =∫  

19 
( ) ln ( )
( )

u x dx u x
u x
′

=∫  

20 2 2

( ) 1 ( )
( )
u x u xdx arctg

u x a a a
′

=
+∫  

21 2 2

( ) 1 ( )ln
( ) 2 ( )
u x u x adx

u x a a u x a
′ −

=
− +∫  

22 ( )sin ( ) cos ( )u x u x dx u x′ = −∫  

23 ( )cos ( ) sin ( )u x u x dx u x′ =∫  

24 ( )2

( ) tan ( )
cos ( )

u x dx u x
u x
′

=∫  

25 ( )2

( ) ( )
sin ( )

u x dx ctg u x
u x
′

= −∫  

26 ( ) tan ( ) ln cos ( )u x u x dx u x′ = −∫  

27 ( )( ) ( ) ln sin ( )u x ctg u x dx u x′ =∫  

28
2 2

2 2

( ) ln ( ) ( )
( )

u x d x u x u x a
u x a

′
= + −

−
∫  

29 2 2

2 2

( ) ln ( ) ( )
( )

u x d x u x u x a
u x a

′
= + +

+
∫  

30 2 2

( ) ( )arcsin
( )

u x u xdx
aa u x

′
=

−
∫  

31
( ) ( ) ( ) ( ) ( ) ( )f x g x dx f x g x f x g x dx′= −∫ ∫

 

32 2 1 1cos cos sin
2 2

xdx x x x= +∫  

33 2 1 1sin cos sin
2 2

xdx x x x= − +∫  

34 2

1 1cos sin
2 2cos

ax ax ax
axdx

a

+
=∫  

35 2

1 1cos sin
2 2sin

ax ax ax
axdx

a

− +
=∫  

36 2

cos sincos ax ax axx axdx
a
+

=∫  

37 2

sin cossin ax ax axx axdx
a
−

=∫  

38
2 2

2
3

cos 2cos 2 sinsin a x ax ax ax axx axdx
a

− + +
=∫

39
2 2

2
3

sin 2sin 2 coscos a x ax ax ax axx axdx
a

− +
=∫

40 ( )2 2sin 2 cos 2 sinx xdx x x x x= − +∫  

41 2 2cos sin 2sin 2 cosx xdx x x x x x= − +∫  

42 sin sin cosx xdx x x x= −∫  

43 cos cos sinx xdx x x x= +∫  

44 1 1
2

1 1ln ln
2 1 1

n n nx xdx x x x
n n n

+ += − +
+ + +∫  

45 ( ) ( ) ( )1cos ln sin ln cos ln
2

x dx x x x= +⎡ ⎤⎣ ⎦∫  

46 ( )ln ln 1xdx x x= −∫  

47
1 ln tan

sin 2
xdx

x
⎛ ⎞= ⎜ ⎟
⎝ ⎠∫  

48 ( )
2

ln 1
1

x
x x

x

e dx e e
e

= − +
+∫

 



49 2 2
0

sin
2

abx axdx e
b a

π∞
−=

+∫  

50 2 2
0

cos
2

abax dx e
b x b

π∞
−=

+∫  

51 ( )2 32 2
0

cos sin cos
4

ax dx ab ab ab
bb x

π∞

= −
+

∫  

52 
2

0 0

s in s in 1
2

x xd x d x
x x

∞ ∞ ⎛ ⎞= =⎜ ⎟
⎝ ⎠∫ ∫  

53 
2

0

1
2

axe dx
a
π∞

− =∫  

54 
22

0

1
4

axx e dx
a a

π∞
− =∫  

55 ( )2

1 1ax axxe dx e ax
a

= −∫  

56 
2 21

2
ax axxe dx e

a
=∫  

57 [ ]2 2

1sin sin cosax axe bxdx e a bx b bx
b a

= −
+∫  

58 [ ]2 2

1cos sin cosax axe bxdx e b bx a bx
b a

= +
+∫  

59 2 2 2

1 1 arctan bxdx
a b x ab a

=
+∫  

60 
2

2 2 2 2 3 arctanx x a bxdx
a b x b b a

= −
+∫  

61 
45

1 cos( ) 1 cos( )cos sin
2 2

a b x a b xax bxdx
a b a b
+ −

=− +
+ −∫  

62 1 sin( ) 1 sin( )cos cos
2 2

a b x a b xax bxdx
a b a b
− +

= +
− +∫  

63 
2xe dx π

∞
−

−∞

=∫  

64 2 2
2 3

1 2 2ax ax ax axx e dx x e xe e
a a a

− − − −= − − −∫  

65 2 2
2 3

1 2 2ax ax ax axx e dx x e xe e
a a a

= − +∫  

66 
cos( ) cos( )sin sin

2
a b a ba b − − +

⋅ =  

67 s in ( ) s in ( )s in c o s
2

a b a ba b + + −
⋅ =  

68 sin( ) sin( )cos sin
2

a b a ba b + − −
⋅ =  

69 
cos( ) cos( )cos cos

2
a b a ba b − + +

⋅ =  

70 ( )1sin
2

ja jaa e e−= −  

71 ( )1cos
2

ja jaa e e−= +  

72 ( )1
2

a asha e e−= −  

73 ( )1
2

a acha e e−= +  

74 2 2cos sin 1x x+ =  
75 sin( ) sinx x− = −  
76 cos( ) cosx x− =  

77 s in c o s
2

x xπ⎛ ⎞− =⎜ ⎟
⎝ ⎠

 

78 cos sin
2

x xπ⎛ ⎞− =⎜ ⎟
⎝ ⎠

 

79  ( )cos cos cos sin sina b a b a b± = ∓  

80 ( )sin sin cos sin s cosa b a b b a± = ±  
81 sin 2 2sin cosa a a=  
82 2 2 2cos 2 cos sin 2cos 1a a a a= − = −  
83 3sin 3 3sin 4sina a a= −  
84 3cos3 4cos 3cosa a a= −  

85 1 coscos
2 2
a a+
=  

86 1 cossin
2 2
a a−
=  

87 tan 1a ctga⋅ =  

88 ( ) tan tantan
1 tan tan

a ba b
a b
±

± =
∓

 

89 ( ) 2

2 tantan 2
1 tan

aa
a

=
−

 

90 sin 1 cos
2 1 cos 1 cos
a a atg

a a
−

= =
+ +

 

91
2

2 ta n
2s in

1 ta n
2

a

a a=
+

 

92
2

2

1 t a n
2c o s

1 t a n
2

a

a a

−
=

+

 

93 sin sin 2sin cos
2 2

a b a ba b + −
+ =  

94 sin sin 2cos sin
2 2

a b a ba b + −
− =  

95 cos cos 2cos cos
2 2

a b a ba b + −
+ =  

96 cos cos 2sin sin
2 2

a b a ba b + −
− = −  

97 ( )sin
tan tan

cos cos
a b

a b
a b
±

± =  

 
 



Transformata Fourier 
 

Original      Transformata Fourier 
 

1 
1( ) ( )

2
j tx t X j e d

j
ωω ω

π

∞

−∞

= ∫  ( ) ( ) j tX x t e dtωω
∞

−

−∞

= ∫  

2 ( ) ( )ax t by t+  ( ) ( )aX j bY jω ω+  

3 
( )dx t

dt
 ( )j X jω ω  

4 ( )n

n

d x t
dt

 1

1
( ) (0)

n
n n k k

k
s X s s X− −

=

−∑  

5 ( )0x t t±  0( ) j tX j e ωω ±  

6 ( ) 0j tx t e ω±  0( )X ω ω±  

7 ( )x at  
1 X j
a a

ω⎛ ⎞
⎜ ⎟
⎝ ⎠

 

8 ( )
t

x t dt
−∞
∫  

 
( )X j
j
ω
ω

 

9 ( ) ( )x t y t  ( )* ( )X j Y jω ω  

10 ( )0 0 0
0

( ) ( )* ( )
t

x t y t t dt x t y t− =∫  ( ) ( )X j Y jω ω  

11 0( ) cosx t tω  ( ) ( )0 0
1 1
2 2

X Xω ω ω ω− + +  

12 0( )sinx t tω  ( ) ( )0 0
1 1
2 2

X X
j j

ω ω ω ω− − +  

13 ( )tδ  1 

14 ( )tσ  
1 ( )
j

πδ ω
ω
+  

15 ( )X t  ( )2 xπ ω−  

16 ( ) ( )2 21
2

f t dt F dω ω
π

=∫ ∫   formula Parceval 

17 1 2( ) ( )t t t tσ σ− − −  ( )1 2
1 j t j te e
j

ω ω

ω
− −−  

18 ( )te tα σ  ( )
1

jω α−
 

19 1( )te t tα σ −  
( )

( )
1j te

j

α ω

ω α

−

−
 

20 ( )te tα σ− −  ( )
1

jω α
−
+

 



21 ( )te tα σ−  ( )2 2

2α
ω α+

 

22 ( )k tt e tα σ−  ( ) 1
!

k
k

jω α ++
 

23 
1

1
t t−

 [ ]1 1 2 ( )j tj e ωπ σ ω−  

24 ( )1

1
nt t−

 ( )
( ) [ ]1

1

1 2 ( )
1 !

n
j t j

j e
n

ω ω
π σ ω

−−
−

−
 

25 2te α−  

2

4e
ω
απ

α
−

 

26 0cos tω  ( ) ( )0 0πδ ω ω πδ ω ω− + +  

27 0sin tω  ( ) ( )0 0j jπδ ω ω πδ ω ω+ − −  

28 ( ) 0cost tσ ω  ( ) ( )0 0 2 2
02 2

jπ π ωδ ω ω δ ω ω
ω ω

− + + +
−

 

29 ( ) 0sint tσ ω  ( ) ( )0 0 2 2
02 2j j

π π ωδ ω ω δ ω ω
ω ω

− + + +
−

 

30 ( ) 0sinte t tα σ ω−  0
2 2 2

0 2 j
ω

ω ω α ω α− + +
 

31 ( ) 0coste t tα σ ω−  2 2 2
0 2

j
j

α ω
ω ω α ω α

+
− + +

 

 



Transformata Laplace unilaterală 
 
Original        Transformata Laplace 
 

1 
1( ) ( )

2
stx t X s e ds

jπ

∞

−∞

= ∫  
0

( ) ( ) stX s x t e dt
∞

−= ∫  

2 ( ) ( )ax t by t+  ( ) ( )aX s bY s+  

3 
( )dx t

dt
 ( ) (0)sX s X−  

4 ( )n

n

d x t
dt

 1

1
( ) (0)

n
n n k k

k
s X s s X− −

=

−∑  

5 
0

( )
t

x t dt∫  
 
( )X s
s

 

6 ... ( )
n

x t dt∫ ∫��	�

 ( )

n

X s
s

 

7 ( ) ( )nt x t−  ( )n

n

d X s
ds

 

8 
1 ( )x t
t

 
0

( )X s ds
∞

∫  

9 ( )x at  1 sX
a a

⎛ ⎞
⎜ ⎟
⎝ ⎠

 

10 ( )0x t t−  0( ) stX s e−  

11 ( ) atx t e±  ( )X s a∓  

12 ( )0 0 0
0

( ) ( )* ( )
t

x t y t t dt x t y t− =∫  ( ) ( )X s Y s  

13 ( ) ( )x t y t  ( )* ( )X s Y s  

14 ( )tσ  1
s

 

15 0( ) cosx t tω  ( ) ( )0 0
1 1
2 2

X s j X s jω ω− + +  

16 0( )sinx t tω  ( ) ( )0 0
1 1
2 2

X s j X s j
j j

ω ω− − +  

17 ( )tδ  1 

18 ( )
1

( )
1 !

ntt
n

σ
−

−
 1

ns
 

19 ( )
1

( )
1 !

n
tt e t

n
α σ

−
−

−
 

( )
1

ns α+
 

20 ( )0 0cos ( )t tω ϕ σ+  0 0 0
2 2

0

cos sins
s
ϕ ω ϕ

ω
−
+

 



21 0sin ( )te t tα ω σ−  ( )
0
2 2

0s
ω
α ω+ +

 

22 0cos ( )te t tα ω σ−  ( )2 2
0

s
s

α
α ω
+

+ +
 

23 0( ) ct h tσ ω  2 2
0

s
s ω−

 

24 0( )t sh tσ ω  0
2 2

0s
ω
ω−

 

25 0c ( )te h t tα ω σ−  ( )2 2
0

s
s

α
α ω
+

+ −
 

26 0 ( )te sh t tα ω σ−  ( )
0
2 2

0s
ω
α ω+ −

 

27 ( ) ( )0t t tσ σ− −  ( )0
1 1 t se
s

−−  

28 ( ) ( )1 2t t t tσ σ− − −  ( )1 2
1 t s t se e
s

− −−  

29 ( )te tα σ τ−  
( )se

s

τ α

α

− −

−
 

30 nt  1

!
n

n
s +  

31 
1
2t

−
 s

π  

32 
1
2t  3

22s

π  

 



Transformata Z 
Original       Transformata Z 

 

1 [ ] 11 ( )
2

nx n X z z dz
jπ

−

Γ
= ∫  [ ]{ } ( )

0

n

n
Z x n x nT z

∞
−

=

=∑  

2 [ ] [ ]ax n by n+  ( ) ( )ax z by z+  

3 ( )x n kT−  ( )kz X z−  

4 [ ]ne x nα−  ( )tX zeα  

5 [ ]nx n  ( )dX z
Tz

dz
−  

6 [ ]na x n  zX
aT

⎛ ⎞
⎜ ⎟
⎝ ⎠

 

7 [ ]nδ  1 

8 [ ]nσ  
1

z
z −

 

9 [ ]n nσ  ( )21
Tz

z −
 

10 [ ]2n nσ  
( )

( )

2

3

1
1

T z z
z

+

−
 

11 [ ]ne nα σ−  T

z
z e α−−

 

12 [ ]k nn e nα σ−  ( )1
k

k
k T

d z
d z e αα −

⎛ ⎞− ⎜ ⎟−⎝ ⎠
 

13 [ ]nne nα σ−  ( )2

T

T

zeT
z e

α

α

−

−−
 

14 sin nω  2

sin
2 cos 1
z T

z z T
ω
ω− +

 

15 cos nω  ( )
2

cos
2 cos 1

z z T
z z T

ω
ω

−
− +

 

16 sinne nα ω−  2 2

sin
2 cos

T

T T

ze T
z ze T e

α

α α

ω
ω

−

− −− +
 

17 cosne nα ω−  
2

2 2

cos
2 cos

T

T T

z ze T
z ze T e

α

α α

ω
ω

−

− −

−
− +
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